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EXAMPLE 3.5.1 Minimizing Amount of Fence

The highway department is planning to build a picnic park for motorists along a major highway. The park is
to be rectangular with an area of 5,000 square yards and is to be fenced off on the three sides not adjacent
to the highway. What is the least amount of fencing required for this job? How long and wide should the
park be for the fencifig 1o be minimized?
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EXAMPLE 3.5.2 Maximizing Profit

Mateo owns a small company that makes souvenir T-shirts. He can produce the shirts at a cost of 52
apiece. The shirts have been selling for $5 apiece, and at this price, tourists have been buying 4,000 shirts
a month. Mateo plans to raise the price of shirts and expects that for each $1 increase in price, 400 fewer
shirts will be sold each month. What price should Mateo charge per shirt to maximize profit?
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EXAMPLE 3.5.5 Minimizing Cost of Construction

A cable is to be run from a power plant on one side of a river 300 meters wide fo a factory on the other side,
3,000 meters downstream. The cost of running the cable under the water is $5 per meter, while the cost
over land is $4 per meter. What is the most economical route over which to run the cable?
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